JL_

Rewriting Using the Laws of Exponents Name:
Use the law of exponentsto rewrite each problem. Answers
1) 30: 2) P x3°=
1.
2,
3 1, 3_ 4) 2 -
(V= (7%2 ;
4,
5 9_ 6
) (8x3)°= A 5
6.
7.
8.
9 53, 2= 10) 8= :
10.
1) 1 12) (8x6)°=
11.
12.
13) 48y g7= 14) 44, 43= N
14.
16.
17) 30: 18) 61:
17.
18.
19) g5 = 20) (59°= N
20.
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Rewriting Using the Laws of Exponents Name: Answer Key
Use the law of exponentsto rewrite each problem. Answers

1) = 1 2 g3y 35= 32 ) 1
. 3°
K ( 1/7 )= 1/73 Y (7x2y =_Tx2 3. l/73

. 72 % 22

% 8x3°= &'x3 O (Vg= Ve s 80x3
6. 1/48
D = L 8 8, 75= 713 § 1
S
) Bxg?= 5 O g Y -

1

10. 4°
11) s1- v 12) (8x6)°= 8°x6° N 7

o 8 x6
13) 484 47= 4L 14) 44 43= 47 " 4
A
15) (8%3= g2 16) 63 9= 66 . gl2
6 6°
17) 30: 1 18) gl 6 . 1
18. 6
9 gs- Y, 0 BP=_ 5" o_ /g
0 5"
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Rewriting Using the Laws of Exponents Name:
Use the law of exponentsto rewrite each problem. Answers
0
V7= ? (75)= L
2,
4,
5) 1 7 — 6) -8 _
(7g)'= 4°= 5.
6.
7) 8_— 8) 00—
(7x9)°= 3 = ;
8.
9) (2% = 10) 41= )
10.
11) 79 9 76 — 12) (73)5 — .
12.
13) 66« 9= 14) (73)5 — -
14.
15) 50 - 16) (3 x 6)7 -
15.
16.
17) gl 18) g5, g9=
17.
18.
19) 48 x 4-3 — 20) 41 — y
20.
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Rewriting Using the Laws of Exponents Name: Answer Key
Use the law of exponentsto rewrite each problem. Answers

D 7= 1 ) ( 1/3 )°= 1/33 1 1
2. l/33
3 2 x 6= 6° 4) @8x38= g¥x3? . &

. 88 5 38
> Y= Y O g8= g 5 2
6. 1/48

N @x9°=_7°xd 9 3= 1 . Pxd
8. 1
D @dr= 2° 100 g1= 4 . £20
10. 4
11) 49, £6= 715 12) (73)°= 715 . 15
o 10
13) 6, 59= 63 14) (73)°= 415 " &3
TR
15) £0- 1 16) (3x6)7= 3'x6 . 1

16. 37 X 67
17) gl 5 18) g5,g9= g4 . 5
s 8"
19) 48 43= 45 20) 41 4 . 45
20. 4
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Rewriting Using the Laws of Exponents Name:

Use the law of exponentsto rewrite each problem. Answers
1) (34)8 — 2) 4l= )
2.
3) 52, b= 4) 42= .
4.
Y (Voyt= Y 6= ;
6.
0 34= K 60 = 7.
8.
9) (4 9_ 10) (1/2 6 .
10.
1) (7x6)°= 12) 43, 40= N
12,
B (7e= 9 9’ "
14,
15) 24 g3= 16) g2y g7= .
16.
17) 55 o6= 18) 60 _ .
18,
B (9x 7= 2 ( 1/5 3= 19,
20.
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ﬂh Rewriting Using the Laws of Exponents

Name: Answer Key
Use the law of exponentsto rewrite each problem. Answers
1) (34)8 — 332 2) 41 = 4 . 332
2 4
3 2 6 — 8 4 1
) 22 x 20= 2 ) 4°= /42 3. 28
1
4, 4
5 1 6 1 1
) (79)*= Vg ) 6°= 76 5, 9!
1
6. 6°
0 1
0 34= 1/34 % 6= L 7. /34
8. 1
9 9_ 54 100 1 1
4)y=__4 (/)= T . 45
1
10. /. 2°
11) (7 x 6)6 = Bxgd 12) 434 49= 412 N 26 5 68
12
12 L
13) (78)6 — 748 14) 90 — 1 - 48
14, 1
15) 24 g3= gl 16) g2, g7= g5 , gl
5
16. 8
17) 5, 06= ol 18) 0= 1 - Sl
18. 1
19 8- 8. -8 200 1 1
) (9x7)P= Px7 A2 o Bx7
1
20. /. 5°
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Rewriting Using the Laws of Exponents Name:
Use the law of exponentsto rewrite each problem. Answers
2,
3) ]/ 4 — 4) 4O:
(78) = 3,
4,
5) (88)4: 6) 2B x 2= i
6.
N 27 x 2= 9 gtz 7
8.
9 A2 10
G ) 6°= .
10.
11) 8 55— 12) 1
3 x3°= (/g )°= 11.
12.
13) 1, g_ 14) 9_
(7. 3) ~ (6% 3) 13,
14.
15) 80= 16) 51—
15.
16.
17) (84)4: 18) 25 x 48= .
18.
19) 60= 20) g5 % g8=
19.
20.
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ﬂh Rewriting Using the Laws of Exponents

Name: Answer Key
Use the law of exponentsto rewrite each problem. Answers
1) ql= 3 2 gl= 6 1 3
2 6
3 1 1 4 ,0_ 1
) (7g)*= Vg ) 4= 1 3 /84
4 1
5) (88)4= g32 6) 3y 2= ol 5 o2
6o 2
) o7 x 3= 210 8 g4= 1/94 2 510
1
8. 9*
9 N2 _ 8 10
) (@?=_ 9 ) 6%= Y o &
1
10. 6°
11) .8 5— 13 12) 1 _ 1 13
3x3 3 (/8)6— /g8 11, 3
1
12. g°
13 14 9— 9 A9 1
) (1/3)8: 1/38 ) (6x3)"=_6x3 13, /38
14. 69 X 39
0
15) 0 1 16) 1= 5 . 1
16. 2
17) @)= g 18) 46« 4 8= 42 . gl6
-2
18. 4
0
19) O 1 20) g5, g8=  gl® . 1
1
x__ 8°
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Rewriting Using the Laws of Exponents Name:
Use the law of exponentsto rewrite each problem. Answers
) gl 2) (7><3)7: .
2,
3) (6 x 7)5 — 4) (35)7 — X
4,
5) 52y 2= 6) 534 57= i
6.
7) 7— 8) o0—
(9x8) = 9 = .
8.
9 100 1
) 2= SVAS .
10.
0
1) 0= 12) o7 = .
12.
13) Sl 14) 37, 7=
13.
14.
15) 1, &_ 16) -1 —
(75) ! 15
16.
17) 9% x g4= 18) 26« 98 = .
18.
19 20 4\5 —
) 59= ) (3)°= 19,
20.
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Rewriting Using the Laws of Exponents Name: Answer Key
Use the law of exponentsto rewrite each problem. Answers
1) 1= 2 T— 5747
) 5t= 5 ) 7x3)= 7'x3 . 5
) 77 v, 37
3 5 555 4) 57 — 35
) (6x7)°= 6°x7 ) (¥)7'= 3 . Ex7
. 335
5 52, ~2= 4 6) =3, 7= 10
2°%x 2 2 5°x5 5 : A
6 510
7 7— 7. ol 8) ~0_
) (9%x8)'= 9 x8 ) 9 = 1 . 9’ x g’
8. 1
9 1 100 1 1 1
) 7%= /7 ) (/)= /x 3 2
1
10. 2°
11) 0 12) 1
8 1 9'= /g7 11, 1
1
12. of
13) 51— 14) A7 7= 0
) 2= 2 ) 37x3 3 . 5
0
14, 3
15 1, &_ 1 16) -1— 1
(7 5 )° /. 5° ! !/ 15. /. 5°
16, 7
17) o6« 4= 2 18) 46, 8— -2 >
9" x9 9 2" %2 2 7 0
-2
18, 2
19 20) ;A5 — 20 1
) 59= Y ) 3°= 3 o e
2
0 3
1-10 [95]90[ 8580 75| 70| 65] 60 55 | 50
[ Math ] WWW.CommonCoreSheets.com 5 11-20{ 45 40| 35]30[ 25/ 20] 15[ 10 5 | 0




JL_

Rewriting Using the Laws of Exponents Name:
Use the law of exponentsto rewrite each problem. Answers
1) (27)2: 2) 90:
1.
2,
3) Ay 35= 4) (78)4 = ;
4,
5) 5%y 9= 6) gl= 5
6.
N g*xg®= NCAE 7
8.
9) (7 x 9)2= 10) g£l- :
10.
1) 0= 12) N0
11.
12.
13 9_ 14
) (4x5)"= ) (1/4)9: 13,
14.
15 1 _ 16) [ ,3\8 =
( / 8 )4 - (4°) 15.
16.
17 18 1_
) 4= ) g'= 17,
18.
19) 33 N 3-2 — 20) 54 x5 = o
20.
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ﬂh Rewriting Using the Laws of Exponents

Name: Answer Key
Use the law of exponentsto rewrite each problem. Answers
1) (27)2: 14 2) 90: L 1 14
2 1
J 3¥x3z5= 3! V@)= 7 . 3t
P
5) 24 % 29 — 213 6) 81 — 8 i 213
6. 8
7) 94 X 9'5 = 9'1 8) ( 1/4 )8 — ]/48 . 9-1
1
8. /. 48
N (7x9°%= 7Px9 19 5= 5 . Px
10. o)
19 90= 1 12) 70: 1 " 1
12 1
1 — 14
3 (4 % 5)9 4° x5’ ) ( 1/4 )9 = 1/49 13 4° x 5°
1
14, 4°
15) _ 1 16) [ 43\8 — 24 1
( /8)4_ /g (49 4 15. g*
24
16. 4
17 1 18 1_ 1
) 4= /46 ) g'= 8 17. /46
18. 8
19) 33, 2= 3t 20) g4y 57= sl o 5l
11
20. 5
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Rewriting Using the Laws of Exponents Name:
Use the law of exponentsto rewrite each problem. Answers
2,
3 1, s_ 4) 1_
(75)°= ° 3
4,
5) 31= 6) 49><49= i
6.
7 S0 8) ,n6\7 —
2 = (6)" = -
8.
9 (7x6)°= 10) g8, gh= :
10.
R 2 ( 1/5 )= 1
12.
13) 55, 33= 14) g0= N
14.
15) (88)8 _ 16) 47, 78=
15.
16.
17 18 8 _
) 42= ) Bx7)"= 17,
18.
19.
20.
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Rewriting Using the Laws of Exponents Name: Answer Key
Use the law of exponentsto rewrite each problem. Answers

1) (8 x 6)3 = &xe 2) (63)6 - 618 ) g3 x 63
) 618
A2 - S
a. o
5) l= 3 6) 49x 49= 418 ] 3
. 418
nP= 1 V6= 6" .1
N 642

) 7x6)°= 7°x6° 9 gfxgt= 8" 0. 7°x6°
o 8%
1) 0= 1 12) ( 1/5 9= 1/59 . 1

1
12. 5°
13) 35, 3= 32 14) g9= 1/99 i 2
1

14, 9°
15) (88)8 — 864 16) 77 % 7-8 — 7 1 . 864
T
17) 42= 1/42 18) 3x7)°= 3x7° 17, l/42

18. Px7
9 6= 6 0 P= 1 19 6
20. 1
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Rewriting Using the Laws of Exponents Name:
Use the law of exponentsto rewrite each problem. Answers
1) 1, 4_ 2) ,1_-
(75)'= 4 1
2,
4,
5) 9_4: 6) 96 9 92 — .
6.
N 1, 4_ 8 1, 3_
(76)"= (/2)°= .
8.
9 gl= 10) (5x4) =
9,
10.
11) 25 x 48 = 12) 20 — .
12.
13) 0 4 (gx2)8=
13.
14.
0
15) (56)8 — 16) 5 = .
16.
17) 27 % 2-2 — 18) 39 % 32 — .
18.
19 3 20 1_
) 9°= ) 41= 19.
20.
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ﬂh Rewriting Using the Laws of Exponents

Name: Answer Key
Use the law of exponentsto rewrite each problem. Answers
? (1/5 )= 1/54 V4= 4 1 1/54
2 4
Y (BP= Y gtz A X 48
. 4
5) g4= 1/94 6) 9 x 92= 98 ) 1 g
S
AR A 2
8. l/23
9 gl= 9 10 (5x4)7= 5 x4 . 9
10. 57 X 47
W Sxg8= 43 12) 2= : 11. 43
12 1
13) 4o _ 1 14) (8 x 2)8 = g8x 28 Y 1
14. 88 X 28
15) 8= 5% 16) 0= 1 . 548
16. 1
17) o7 o2= 5 18) 59, 32= 3l . 5
s 3
9 gs= Y D ogt= 4 o_ /5
20. 4
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Rewriting Using the Laws of Exponents Name:
Use the law of exponentsto rewrite each problem. Answers
1) 75X 7—6: 2) 602 1
2,
3 1, 5_ 4) 5\5 —
(74)°= (9 s
4,
5) 67><66_ 6) (3><6)3= i
6.
) 59, 6= 8) 8- 7
8.
2 (5% 3)7 = 19 8= o
10.
0
1) 0o 12) (8 x 9)2= .
12.
13) 69 x 66 — 14) ( 42)7 — Y
14.
16.
17) 1, 5_ 18) 1—
( / 6) - 6 17.
18.
19 0_ 20 1
) 4= ) (75)°= 19,
20.
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ﬂh Rewriting Using the Laws of Exponents

Name: Answer Key
Use the law of exponentsto rewrite each problem. Answers
. ; 0
1) 25 % 76= 71 2) 6 = 1 . 7-1
2 1
3 1 1 4 5\5 — 25 1
A2 ) (@)= 9 L T
. 925
5) 6" x 6° = 613 6) (3 x 6)3 = Bxg i 613
6 33 % 63
D gxst=_ s ¥ 7o Yy .5
1
8. /. 7
9) 5x3)7= 5 x3’ 10) 78 = 1/28 . 5 x3
1
10. /. 28
1) 20— 12) 2 2.2
5= 1 (8x9)"= 8 x9 11. 1
8x9
13) 69 % 66 — 65 14) ( 42)7 — 214 " 615
14
14, 4
15) 25« 23 = 28 16) & x64= 6 . 28
4
16. 6
17) _ 1 18) A1— 1
(/6)3— /63 6 6 17. /63
18. 6
19 ,0_ 20) _ 1
4 1 ( /2 )6 = /. 6 19. 1
1
20. /. 2°
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Rewriting Using the Laws of Exponents Name:
Use the law of exponentsto rewrite each problem. Answers
1) A6, 29— 2 1, 5_
6 X 6 ( /7) - 1.
2,
3 ) 4 0_
) 3= ) 8= 3
4,
5) 8 — 6) o
(4 6 - 5.
6.
7) 50: 8) (9 X 2)6:
7.
8.
9) 8 — 100 1, g_
(8x4) (76)°= 0
10.
1) (2% 3)2 = 12 38= 11
12.
13) 434 44= 14) 1=
13.
14.
15) 60= 16) 1=
15.
16.
17) gl= 18) 35, 9=
17.
18.
19) o7 x 95 = 20) 33 x 3= g
20.
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ﬂh Rewriting Using the Laws of Exponents Name: Answer Key

Use the law of exponentsto rewrite each problem. Answers
1) 6, 29— 15 2 1 _ 1
xe’= 6 (Vo= T L 6"
1
2 7
3 1 4) Q0 _ 1
BT b g=_ 1 ; &
4 1
5) (4 8- 472 6) 62= ]/62 ] 472
1
6 6°
0
N = ¥ (9x2)°= x2° ; 1
o 96 % 26
9) 8 — 8. 48 100 1 1
(Bx4y=_8 x4 (76)°= g o 8 x4
1
10. / 6°
Y @xgi=_2xF AT n_ Px3
1
12. /. 3®
13) 43, 44= 47 14) o1 6 - 47
14. 6
15) 60 - 1 16) 61 — 6 . 1
16. 6
17) 81: 3 18) 35 % 3-9: 34 . 3
o 3"
19) o7 x 95= 22 20) 33 % 36 — 32 y 22
0 3
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